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How does deep learning work?

Deep learning algorithms work by training artificial neural networks on a large dataset,

using multiple layers of interconnected nodes to learn and make intelligent decisions.

These neural networks are inspired by the structure and function of the brain, and are

designed to recognize patterns and relationships in the data.

During the training process, the neural network is presented with a large number of
examples, and for each example, the input data is passed through the network and the
output is compared to the desired output. The errors between the predicted output and
the desired output are then used to update the weights and biases of the network, using
an optimization algorithm such as gradient descent. This process is repeated for many
iterations, and as the network trains, it becomes able to make more accurate predictions

on unseen data.

Once the training is complete, the deep learning model can be used to make predictions

on new data, using the learned patterns and relationships to make intelligent decisions.
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